o]
=

5to] log A = —2.341

Faol H

ﬂmo

ﬂ_mo

..__,Alo

ﬂmo

(-2-1) + (1-0.341)

-2.341 =-2-0.341

-3 + 0.659




2.

log x = 2.6044 & ™, log x> ] #F-2?

® 2.3022 @3.2088
@ 5.4890 ® 6.5110

® 4.5110

B

log x = 2.6044 = -2 + 0.6044 0| 2.2
log x? = 2log x

— 2(~2 + 0.6044)

= -4+ 1.2088

= -3+ 0.2088

=3+ 0.2088




3.

< logo(n +2) 2] Al 98327

D log, 10 @ log, 100

@ 1 @2

® 10

a, = logo(n+2)°]|B=2
ags = log;, 100 = log;, 10? = 2log;, 10 = 2
wHebA] , Al 9832 20]th




4.

log(314xA) =1.0471 ¢ W, FF AQ S hS A E2IRE

Stof gk A7
& 0 1 2 3 4 5
3.0 | 4771 | 4786 | 4800 | .4814 | .4829 | .4843
3.1 | 4914 | 4928 | 4942 | .4955 | .4969 | .4983
3.2 | .5051 | .5065 | .5079 | .5092 | .5105 | .5119
3.3 | .5b185 | .5b198 | 5211 | .5224 | .5326 | .5250
3.4 | .5315 | .5b328 | .5340 | .5353 | .5366 | .5378
3.5 | .b441 | .5435 | .5465 | .5478 | .5490 | .5502

@D 0.3020 ©2)0.355 ® 1.35

@ 2.30 ® 2.33

o

B

= —0.4498
= -1+ 0.5502

olct,

log(31.4 X A) = 1.0471 9] A
log31.4 +logA = 1.0471
logA = 1.0471 —log 31.4
= 1.0471 — (1 + log 3.14)
= 1.0471 — (1 + 0.4969) (.. 213 A log 3.14 = 0.4969)

84 FolA 2I1FA log3.55 = 0.5502°] 22 A = 0.355




oS <H7|> O AR R & 11 A4 FEO| loghb o] A4 HE}

j=)

Ze Ao HfpE F5HA? (H, log 550 = 2.7404)

@ logh.05 © 1og0.00055
1
— 5% 1010
®© log550 ® log(5.5x 10'7)
@ log5.5'°
o1 @ ® 3 @ 4 ® 5

log 550 &] 14> 550 T A5 o] X9t th =11 5=219] v g o]
2o 5o dgrao] o HEL loght0 9] 4 BB} Zr),

A2 HH | 7ko

watA <H7)> F logh50T A4 HEol e Ao ©,@ 9 2
7jo]ct.




Aol 2, F7F 291 TAFEES
54 {by) ollA A& 22 2000 Bt AR = F2? (T, log2 = 0.3010)
@ AsF @ A6 ® Arg
@ A8 ® A9t

a, = 2n°|B=2 p, = 221
4" > 2000 9| 4] 2nlog 2 > log 2000
Soon> w = 5.48 X XX

0.6020
webA] A6 FEE A0 2 2000t AR}




7.

log3.14 = 0.4969 & o, log 3140'° 2]

Fotofet.
>

> e 34, 0.969

B

7

2~
e

=]
T

1=
pLe

T}

o

2~
T

=]
T

1=
gL

o

==

log 31401% = 101log 3140
— 101log(3.14 x 1000)

= 10(log 3.14 + log 1000)
= 10(0.4969 + 3)

= 10 % 3.4969 = 34.969




oj EAS] H T QI F7HE2 AWt 4% 2HAL gt o] A Q] QI
7} olelgt A= SR 10 $9] o] A9 Qlt= HA 9] k
oltt. olmf, 100k &) FkS Fotof2t. (H, log1.04 = 0.017,log 1.48 =
0.17 2 Aikghet)

QAT 1SR SIS Aot Fo FE A%o) Aoz 1}
Ehwict,

@R ol A9 A7) 5 Ach et 109 Fo] o EA9
Q179 S kaolet,

A(L+0.04)10 = kA, 1.0410 = &

o] 41| Qo] 8215 sk

log 1.04'° = logk

o] o, 10log 1.04 = 10 x 0.017°] 2.2

logk =0.17 .. k=148

.. 100k = 148




9.

log 4.02 = 0.6042 & T, log 40200 2]

Fajolat,
S

> Heh 36, 0.042

B

7

2~
e

=]
T

1=
pLe

T}

o

2~
T

=]
T

1=
gL

o

==

log 402010 = 101og 4020
= 101log(4.02 x 1000)

= 10(log 4.02 + log 1000)
= 10(0.6042 + 3)

=10 x 3.6042 = 36.042




10. log809 A4 BEE n, &5 HES a2t T 0, 10" + 10° 9] 3
“Fato2t.
» G
> =g 18

B ~

log 80 = log(10 x 8) = 1 4 log 8 ]| A]
0<log8<10o|R&

log80 2] A4 FE-2 10| &4 HE-2 log8o]Tt.
Zn=1a=log80|0&

10" + 10 = 10 + 1088 = 10 + 8 = 18




